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A given language is not used in exactly the same way by every one of
its speakers.
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Accent: refers to features of speakers’ pronunciation that can
signal their regional or social background.
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Dialect: refers to a variety of a language that can signal the
speaker’s regional or social background.
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8.3 Does social class really affect language?$4dl a5 delaiay) 48dall Ja
YES. Social class affects languagedalil: s delaia¥) didal) aai
e The higher a person is on the social scale, the more their speech will

reflect prestige norms.
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Speakers at the top of the social scale speak Standard English with very
little regional variation.
ol e laa Q8 as (standard )il 2alll G gerdieg Llall e laia¥) Akl (e faaiall
E.g. Words
WC Lavatory toilet
e All the above words are acceptable in Standard English, and all refer to the same
thing.
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e There are some non-standard words which also refer to the same thing:
bog lav privy Dunny john
el Guiil 5udt Al Al ye QLD yaey cllis e

s e laa) Akl ansi Sas Social class can be divided into:
a. Upper b. Middle c. lower
e |t is not easy to differentiate members of one social class from those of
another.
oled) () saiy el (o Aipma 48 2283 (0 Sy ) Jal gl (amy llia
1- education 2- occupation 3- economic
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8.4 The problem of defining social class
Ao LaiaY) ddgall iy 5 AdSia

® Some people equates social class with money:
L) a Ao Laia¥) Akl Ul aey Jalad @
¢ The main problem with equating social class with money is that it is not always the
middle classes that have money.
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e Some people equates social class with education:
alatl) aa GpeLaia ¥l A8hll Jolas Gulill (axy @
e The main problem with equating social class with education is that it is entirely
possible that an individual who is middle-class might not earn more than an average
amount of money.
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1-8.5.1 William Labov: the social stratification of ‘r’ in New York City
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e In 1962, the American sociolinguist William Labov conducted a
study of the relationship between social class and linguistic variation
in New York City
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¢ Findingszililll

e Labov found that the higher the social class of the speakers, the
more instances of post-vocalic ‘r’ they would use.
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e This means that there is a relation between social class and

language.
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8.5.3 Williams and Kerswill: dialect leveling in three British towns
One B 8 Aoy yll Aa g Ay gt iday e pS s el
e Williams and Kerswill studied the accents of adolescents in three British
towns:

Aitay e 3G 8 el pall Slagd oy (u Sy Jaldy (00 @
a. Hull b. Melton Keynse C. Reading

e The three towns differ in their social composition
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e Findingsgidl)
¢ Williams and Kerswill found that that the accents of the three towns were
converging - leveling or becoming more alike.
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e They found some class-based differences in pronouncing the vowel sounds
of some vowels.
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e They found some class-based differences in the shift to the consonant
patterns of Estuary English:
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E.g. a.the glottalisation of ‘t" in butter,
B. the replacement of ‘th’ sounds with ‘¥ or v'.
e This reflects the relation between social class and linguistic variation.
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(51)The term ......... refers to features of speakers’ pronunciation that can signal their regional
or social background.
(A) Linguistics
(B) language
(C) dialect
(D) Accent
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A. The lower a person is on the social scale, the less their speech will reflect prestige norms

27- Choose the correct sentence :

B. The older a person is on the political scale, the less their speech will reflect prestige norms
C. The higher a person is on the social scale, the more their speech will reflect prestige norms
D. The hire a bison is on the societal scale, the more their speech will reflect prestige norms

(8) The...... a person 1s on the social scale, the more their speech will reflect prestige norms.
(A)worse
(B) higher
(C) lower
(D) healthier

ige 0
h will reflect prestige
seales e legs e T ill reflect presuge

speech Wi
the more their sp 11 refieot restige

their money Wi
their speech will reflect prestig

t sentence.
(27) Choose the correc :
(A) The higher a person is on the SO(flal
(B) The lower a person is on the soc'xal scale, 2
£ ' (C) The faster a person is on the social scale, the m

& '-:'\ZD) The higher a person is on the social scale, the more
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28- speakers at the top of the social scale speak ........

A. informal English with very clear regional variation

B. standard English with very little regional variation

C. non-standard English with very little political variation
D. colloquial English with very clear financial variation

(11)The specific class that people belong to can be determined by

(A)education
(B) occupation

(C) economic factors

(D) All the above.
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29- The main problem with equating social class with education is that .......:

A. itis entirely possible that an individual who is middle-class might not earn more than an average amount of
money

B. itisimpossible possible that an individual who is middle-class might earn more than an average amount of
money

C. itis entirely possible that a student who is middle-class school might score more than an average students in
math

D. itis entirely possible that a school girl who is in third class might not earn more than an average amount of gold
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30- Labov 1962 found that ............. :

A.

B.
C.

D.

31- Williams and Kerswill found that that the accents of the three towns (Hull, Melton Keynse, Reading ) ..... :

the higher the social class of the speakers, the more instances of post-vocalic ‘r’ they would use
the lower the profession of the speakers, the less instances of vocalic ‘r’ they would use

the higher the social class of the listeners, the less instances of pre-vocalic ‘r’ they would use
the higher the education of the speakers, the more instances of no vocalic ‘r’ they would use
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A. were converging - levelling or becoming more alike

B. were diverging - divelling or becoming more different

C. were contradicting - cavelling or becoming funnier
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